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Semi-circular insertion lace 

Crochet lace insertion with cluster stitch 
#3038 

 

 

UK term | US term 

Chain stitch – ch 

Slip stitch – sl.st 

Double crochet / Single crochet – dc / sc 

Treble / Double crochet – tr / dc 

 

Cluster of 5 tr/dc – cl. : work in the same 
space 5 incomplete tr/dc, yarn over hook and 
pull it through all loops on hook. 

Picot of 3ch – picot 

 

Make 9 foundation chains. 

Row 1: 1tr/dc + 5ch + 1tr/dc in last ch, turn. 

Row 2: 3ch, 9 tr/dc in space of 5ch, 1 tr/dc in 
tr/dc below, 9 tr/dc in net space of 8ch, 1 
tr/dc in 4th ch, turn. 

 

Row 3: 5ch, *skip 1st, 1tr/dc in next, 2ch; rep 
from* 8 times, 1tr/dc in 3rd ch, turn. 

 

 

 

Row 4: 4ch, * 1cl. in space of 2ch, 3ch; rep 
from* 8 times, 1cl. in space of 2ch, 1ch, 
1tr/dc in 3rd ch, turn. 

 

Row 5: 3ch, 2tr/dc in space of 1ch, *1ch, 
5tr/dc in space of 3ch; rep from* 8 times, 
1ch, 2 tr/dc in space of 4ch, 1 tr/dc in 3rd ch, 
turn. 
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Row 6: 5ch, * 1tr/dc in space of 1ch, 5ch; rep 
from * 8times, 1 tr/dc in space of 1ch, 2ch, 1 
tr/dc in 3rd ch. 

 

Row 7: 2ch, 3dc/sc in space of 2ch, 4dc/sc + 
1 picot + 3dc/sc in space of 5ch, * 7 dc/sc in 
next space of 5ch; rep from* 6 times, 4dc/sc  

 

+ 1 picot + 3dc/sc in next space of 5ch, 3dc/sc 
in space of 5ch, 1dc/sc in 3rd ch. Fasten off. 

Row 8:  

For next wheel connect the thread between 
31st and 32nd dc/sc and work 6ch, 1 tr/dc in 
4th st, 6ch, work 1dc/sc between 38th and 
39th, 3ch, skip 2st, sl.st in next, turn. 

 

Row 9: 11 tr/dc in space of 6ch, 1 tr/dc in 
tr/dc below, 11 tr/dc in next space of 6ch, 
skip 3dc/sc of first wheel and work sl.st in 
next st, 3ch, skip 2st, sl.st in next, turn. 

 

 

 

 

 

Row 10: *2ch, skip 1st, 1tr/dc in next; rep 
from* 10 times, 2ch, skip 3dc/sc of first wheel 
and work sl.st in next st, 3ch, skip 2st, sl.st in 
next, turn. 

Row 11: 1ch, * 1cl. in space of 2ch, 3ch; rep 
from* 10 times, 1cl. in space of 2ch, 1ch, skip 
3dc/sc of first wheel and work sl.st in next st, 
3ch, skip 2st, sl.st in next, turn. 
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Row 12: 2 tr/dc in space of 1ch, *1ch, 5tr/dc 
in space of 3ch; rep from* 10 times, 1ch, 2 
tr/dc in space of 1ch, skip 3dc/sc of first 
wheel and work sl.st in next st, 3ch, skip 2st, 
sl.st in next, turn. 

Row 13: 2ch, * 1tr/dc in space of 1ch, 5ch; 
rep from *10 times, 1 tr/dc in space of 1ch, 
2ch, skip 3dc/sc of first wheel and work sl.st 
in next st, turn. 

 

Row 14: work 2 dc/sc + 1picot + 3dc/sc in 
space of 2ch, 4dc/sc + 1 picot + 3dc/sc in 
space of 5ch, 4dc/sc + 1 picot + 3dc/sc in next 
space of 5ch, * 7 dc/sc in next space of 5ch; 
rep from* 6 times, rep 2 times: 4dc/sc + 1 
picot + 3dc/sc in next space of 5ch; 4dc/sc + 1 
picot + 1dc/sc in space of 2ch. Fasten off. 

 

 

 

Repeat rows 8 - 14 until you have reached 
your desired length. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 4 

 

If you'd like to get a wide openwork pattern, 
just make another edging. Join it to the first 
edging through the picot.  

This color combination creates a simple wave 
effect: change the color of yarn for each of 
the next wheels. 

Materials 

Pearl cotton, crochet thread size 12, and steel 
crochet hook size 1.25 - 1.50 mm / 10 - 8. 

You may use any yarn of your choice, and a 
suitable hook. 
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The edging and wide pattern 
in one color 
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Color combination of  
green and pink 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


